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SA: hE At

S Mol & T ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Mol & THEH o e 13,484,993 16,328,439 A1,843,446
= 173,022
= 871,000
== 2,006,876
o 10,434,095
THOHAFE CHHI R &&= X 2,755,793 3,407,219 A\651,426
= 113,022
[ 871,000
= 311,876
= 1,459,8%
|EAEN X2 29,450 379,450 A.350,000
301 EtE N = 29,450 29,450 0
05 | EA LA B 29,450 29,450 0
O2s4A 8l 243 Al 29,450
— Jl=Z A ¥ It=E0tE A
11,000,000 x12] 11,000
—E J1sZals 2,450,000 *12 2,450
—Ise WFAHA 3,500,000 *12 3,500
—DHOSAYHA &R A
7,500,000 *12] 7,500
—o|ZAYHOY At XIR
5,000,000& 12 5,000
==0] HEAIE EXIAMY 226,265 191,347 34,918
= 5,438
== 1,631
o 219,196
101 e124d| 192,325 164,143 28,182
01 2= 39,424 21,124 12,300
OGEE ==0| HY2R == (LetA)
11,0002 x2E x28L «BA| 2+ 8 A 39,424
02 JIEtAE = 480 374 106
ONSE =20 Ha22 =gIEA)
10,0002 2 *3L +BA| 2H+ 15 A 480
04 JIZtN2 2N S 2 152,421 136,645 16,776
ONEa 2=0| d2eIed 182,421
—JlEs 82,3903 x30E ~42&! 103,812
-5+ 82,3003 30 H 8 19,774
—Axtg 82,3002 x30& 2 4,944
—uwSH| 2,000 %302 »42! 2,520
—=4l 4,0002 30 42! 5,040
—4E2E = 136,088,400 *12% 16,331
201 er23| 32,740 26,004 6.736
= 5,438
[ 1,631
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A2 THoH & TH&H ot
ol TOHAFRDH 2 AKX (12l M2
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
i 25,671
01 At 22|l 32,476 25,740 6,736
O==012d=2 E2Tt=2
3,000,000 14 3,000
O2=0] P FHI7P
200,000&*30H 6,000
O2=0| oHEAIE ZXI(XHA)
900,000 * 1400 & 12,600
O2=0| oA EX(EX)
776,857 & * 1400 2~ 10,876
= 5,438
& 1,631
i 3,807
02 S=29| 264 264 0
OREHIASEANAE SARS
11,000& x20H 2% 12& 264
202 Ot 1,200 1,200
01 =WHO4bI 1,200 1,200
O=2=0] erEze| gRFA
20,0002 2B x5 L6 1,200
RS 79,480 98,220 18,740
= 2,091
i 77,389
201 L2 | 20,900 21,100 A200
01 At 22|l 20,900 21,100 A200
Ot Ze|HEAN & EOtE M
40,0003 =80 3,200
Oetdze|fds & otz |2 E Ea
=1 70,0003 *10H +53] 3,500
Ot 2ot2s E2S M
200,000&x203! 4,000
OESHNF Y QIIMEREI Hd Y
200,000& x4+ 102! 8,000
O3JetEfas 222 M
1,000,000& *13] 1,000
O3&T M5 119X 2 AS
1,200,000 *13| 1,200
202 04d| 8,580 7,020 1,560
01 =WOdbI 8,580 7,020 1,560
OB ARFXI(SNH)
8,580,000& 8,580
307 212+01 A 50,000 28,000 22,000
& 2,091
= 47,909
06 232 50,000 28,000 22,000
OZCIotHEE 50,000,000& *13l 50,000
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ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 2,001
s 47,909
eSS etegt=2e 12,578 12,540 38
= 2,584
< 1,034
= 8,960
201 er23| 10,978 10,940 38
= 2,584
== 1,034
o 7,360
01 At22t2lt] 10,978 10,940 38
O=7Zl Xtz 500, 0002 *4CH 2,000
O =8 M& 70,0002 * 154 1,050
O Ze ¢ 50,0002 *207K 1,000
Octdgt=2d I SAMS
8,0002 80 *23] 1,280
Oetdgt=gd A 2HAHMS
3,000 *80& »23] 480
Octdet=2d 5,168,000& 12 5,168
= 2,584
[ 1,034
T 1,550
301 EtE NS 1,600 1,600
11 dALEBIXIZE S 1,600 1,600
ON-HUS Hiet=2e F4A AHl2d
8,000%x200H 1,600
s AliE gsEd 10,000 0 10,000
= 5,000
= 2,000
[Ea 3,000
201 eer23y| 10,000 0 10,000
= 5,000
= 2,000
= 3,000
01 At2teltl 10,000 0 10,000
OsJl ALLLS g=&d
10,000,000 * 14 10,000
= 5,000
& 2,000
= 3,000
OFEEH gt20iel ZAAMY 30,000 40,000 10,000
= 9,000
Ea 21,000
401 Al HIZ S 0HbI 30,000 40,000 10,000
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S Mol & T ol
ool THOHAIRCHE] ¥ A8 SX (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 9,000
s 21,000
01 Al&H| 30,000 40,000 10,000
OCHaB 8122l ZAAIY
30,000,000 *1IH 2 30,000
= 9,000
Ea 21,000
IZLH 288 g L TS 15,000 170,000 155,000
201 fer=3| 15,000 170,000 155,000
01 AtR2tc|Hl 15,000 170,000 A155,000
OZ=2LH9 288 g =57
10,000,000 * 12! 10,000
OZ=2LH9 288 o 2= MH
1,000,000 %53 5,000
EY2 F2ug Naue 0TV XA 26,200 26,200
201 er23| 1,200 1,200
02 S3=gHl 1,200 1,200
OXeoeg= oCv &J| - S =
25,0003 x40+ 122 1,200
401 A2 HIRL 201 25,000 25,000
01 Al&HI 25,000 25,000
OXaHZE CCTV XA
25,000,000 * 14| 25,000
XHoH AHE CHH] 550,020 215,082 334,938
= 100,000
= 17,720
s 432,300
201 er23| 140,779 142,762 1,983
= 2,120
= 138,659
01 At2teltl 28,867 31,500 A2,633
OXMSMt H=lS=E &
25,0002 40 1,000
OXH T Hl 222 MIZ
3,000,000& *14] 3,000
O MHUE =&HI(ZF, 20l S)
8,000,000 14| 8,000
OXMoiSerE It ?32l &Al==<
50,0002 x5 H*63] 1,500
OO0IME! F=HAIZ(AAHI0IH) |X 2=
6,000,000 * 14 6,000
Ot Setaas F157 ME
150,000 *23] 300
Osua&EH 428 +#Y 1,000,000& 1,000
OoNtsadad 225 7Y
1,000,000& 1,000
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ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORHAEH 4| & XA
7,067,000 *14] 7,067
= 2,120
Ea 4,947
02 S3=gHl 111,912 111,262 650
Ooljtsadad Stes
250,000 * 122 3,000
OUZ2AId &L= 800,000& 122 9,600
OUEEAIE StR=s 650,000 * 12 7,800
ONjtseaad Hat|
200,000 %152 3,000
OMooIBE & BREAAE FX2cY
800,000 *500H 2 40,000
ONi2it& e R L=
10,000,000& * 14 10,000
OMHESEaas AAE FXE
3,000,000 %14 3,000
OXIZIIEE A=) RNES
810,000& 122 9.720
Ost=gEal SE3A At
1,000,000 1,000
OMEZAIE IOV dSald SHR=s
100,000& x10JH 2=+ 123 12,000
ONtE IV RXE+2
106,763,000 8% 8,542
OMt - MHoHCHEl AlZ & HI= Xl
4,250,000& 4,250
202 048l 3,120 3,120
01 2L AL 3,120 3,120
OMHOHCHEY FRFEX(SNH)
130,000 x2& * 122 3,120
203 gF=4| 2,500 2,500
03 A=A 2= 2,500 2,500
OQFFTLIY D ZF (Z)
2,500,000& 2,500
206 M=l 8,000 8,000
01 MZH| 8,000 8,000
ONtetes & =2 X Fe
8,000,000& 14] 8,000
301 EtE NS 40,000 24,000 16,000
< 12,000
[Ea 28,000
14 JIEt2 8= 40,000 24,000 16,000
OS+oli=2E8 A JIdExs
40,000,000 * 14 40,000
= 12,000
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ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 28,000
307 21201 & 28,600 24,600 4,000
== 3,600
[Ea 25,000
02 LB HANHEE 28,600 24,600 4,000
OXtsg e doi=2d
12,000,000 * 14| 12,000
= 3,600
= 8,400
OXt=d M 243 Al 16,600
— LAY Jotu=
500,000 *4=2 7| 2,000
-7 HzEs
20,0002 +40% * 123 9,600
~HEX, OHEE Y
5,000,000& 14] 5,000
401 Al HIZ R 0HbI 306,000 0 306,000
= 100,000
[Ea 206,000
01 Al&H| 306,000 0 306,000
OS3AE Se=35 A
200,000,000& *14] 200,000
= 100,000
= 100,000
OMt2eI N2 BIEE 1D HIISA
6,000,000 * 14 6,000
OLHQIE OIS HIAASHEX HXI
5,000,000 2091 2 100,000
405 AHaHE = 21,021 10,100 10,921
01 It =S F = 21,021 10,100 10,921
it HEE S8 A
33,0003 *637H 21,021
U=~ s= 22N 34,800 32,580 2,220
201 fet= 3| 28,860 28,980 A120
01 AtR2tc|HI 28,860 28,980 A120
OMctSetatatal d=sAY| 28,860
—23ag 60,0002 *116& 6,960
—=32 60,0002 x365& 21,900
202 04l 5,940 3,600 2,340
01 =LHOHI 5,940 3,600 2,340
Oxt2te| GR=T(SH)
300,000 «1H =122 3,600
OMAR =& L IO ME L (SH)
2,340,000 2,340
THoHRAE RS2 HBI (E2X)-THoH AR CHEI (& =) 920,000 1,120,000 A.200,000




SA CHET
B TH L T Ol
ol TOHAFRDH 2 AKX (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 460,000
=S 184,000
s 276,000
401 Al HIZ R 0HbI 920,000 1,120,000 200,000
[ 460,000
= 184,000
Ea 276,000
01 AlZH| 914,204 1,115,968 A201,764
O&=X7 SSAMANSUASXN S FHISA
920,000,000 *99.37% 914,204
[ 460,000
= 184,000
Ea 270,204
03 AIZSTHYI 5,7% 4,032 1,764
O&sX7 SSANSUAS NS HHISA
920,000,000 *0.63% 5.7%
THOHRIE XIS HHI (22 )-THOH AFE CHEI (25 472,000 280,000 192,000
s 236,000
s 94,400
s 141,600
401 Al HIZL R 0HbI 472,000 280,000 192,000
[ 236,000
= 94,400
o 141,600
01 AlZ2H| 468,602 277,840 190,762
Ost MHHASBXIF HHIALE
472,000,000 %99.28% 468,602
[ 236,000
= 94,400
o 138,202
03 AlZ = THHI 3,398 2,160 1,238
Ost MHHASXIF HHIALS
472,000, 0002 *0.719% 3,398
HHASHKAFHI(EX) - ADESAAHF(40HH) 360,000 0 360,000
= 175,000
= 175,000
401 AIZHIZL R0 350,000 0 350,000
= 175,000
Ea 175,000
01 A28l 350,000 0 350,000
OADIE HSZRIAAE 2= A (AGHA)
350,000,000 *14] 350,000
[ 175,000
o 175,000




SA CHET
HE: TG 2 K ol
ol SRR HIIENT F] (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
24 MoK+ &hl 620,000 2,794,000 A2,174,000
= 240,000
= 380,000
ol *1& X+ & H| 620,000 2,300,000 21,680,000
= 240,000
[Ea 380,000
401 Al HIZ S OHbI 620,000 2,300,000 21,680,000
=S 240,000
s 380,000
01 AlZ8| 620,000 2,300,000 1,680,000
OMoi?Ig X+ EtedE A ES
20,000,000& *14{ 20,000
OJNg= Mol SMAIE JHISA
300,000,000 x 14 300,000
= 120,000
Ea 180,000
OsY 2ue MlHASE LHAIE UISA
300,000,000& *14] 300,000
< 120,000
[Ea 180,000
A AcHA | 5,570,200 5,418,200 152,000
A EHI (U E)-A0HEFHIA (HEALY) 2,920,200 2,920,200 0
401 AlZHIZ SO 2,920,200 2,920,200 0
01 Al&H| 2,905,188 2,905,295 A107
OOXl Aot HHIAF (&)
1,000,000, 0002 %99.37% 993,700
O0t= AoHe FHIAM (&)
1,420,200,0002 %99. 64% 1,415,088
OA= A0H FHIAIS(EE)
500,000,000 *99.28% 496,400
03 A2 THYI 15,012 14,905 107
OOXl Aot HHIAL (&)
1,000,000,000& *0.63% 6,300
O0t= AGHe HHIAIYE (HE)
1,420,200,000& *0.359%% 5,112
O&=2 ActE HHIAM(EE
500,000, 000&%0.72% 3,600
HEAGHE FHIAI(EX) 700,000 978,000 /278,000
401 A& HIX R0 700,000 978,000 /278,000
01 AlZH| 700,000 971,839 A271,839
OE3 A0otd FHIAE
700,000,000 *14] 700,000
20t el 1,900,000 1,520,000 380,000
401 A2 HIRL R 0HbI 1,900,000 1,520,000 380,000
01 Al&HI 1,895,590 1,510,550 385,040




S OETYLD
S Mol & THe ol
el UAESE Aotd &l (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONZAGHE FHIALY
400,000,000 » 14 400,000
O2otd RAES A
700,000,0008%99.37/100 695,590
OZotd JIdH EHIA
100,000,000 * 14! 100,000
OLotd =AY 700,000,000 x 14 700,000
03 A2 THYI 4,410 9,450 A5,040
OLxotd RAE=AE
700,000,000& *0.63/100 4,410
AotEAIE EXS Eas Ns 50,000 50,000
401 Al HIZL R 0HbI 50,000 50,000
01 Al&HI 50,000 50,000
OAcIHEHIAIY OI=2SA 24
50,000,000& * 14| 50,000
HAHAe! ot &l 4,539,000 3,709,020 829,980
= 60,000
< 1,455,000
Ea 3,024,000
oMY R 1,830,000 500,000 1,330,000
= 755,000
= 1,075,000
401 Al HIZL 201 1,830,000 500,000 1,330,000
= 755,000
[Ea 1,075,000
01 Al&H| 1,830,000 500,000 1,330,000
OStE MY FX 2=
1,030,000,000& *14] 1,030,000
s 515,000
s 515,000
OXIotE 22l (20238 ALt W Al)
800,000,000 * 14 800,000
= 240,000
= 560,000
AgstA 2kel 1,549,000 1,632,520 16,480
201 er2&y| 49,000 32,520 16,480
01 AtR2t2|HI 38,500 24,000 14,500
Ootd S=5- ¥l Xz
700,000 110 S S50 38,500
02 S52g4l 10,500 8,520 1,980
OJlse M (&4Ed, WA, Tetd(2
o), 28 4H), d8Z(2H), g3
25,0003 x11J1 128 3,300
OTStE AEE MR (F2xY, ¥X3
) 110,000& 201+ 12& 2,640
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X=]

©OMAIEC! StEEHI

SA - B BRA(SH) - HRA - of v e HIDE2
Oti=82 dJlea(daZ(2H), S2(2H))
30,0003 x40 x 12 1,440
Oti=82 stiea(=d)
260,000« 1= 122 3,120
401 Al HIZL R 0HHI 1,500,000 1,500,000
01 Al&HI 1,491,990 1,491,990
OXlgotd ta EA
100,000,000 *14] 100,000
ONYsHE RA24 A
500,000,0002%99.28/100 496,400
OXlgotd JId M SHIA
200,000,000& *14] 200,000
OXI5HE =HALY
700,000,0002%99.37/100 695,590
03 Al 2CHYI 8,010 8,010 0
OXN Yot FAE4 A
500,000,000& *0.72/100 3,600
OXlgotd =4 A
700,000,000& +0.63/100 4,410
olAIY EXIS 24= Ks 100,000 100,000 0
401 AlEHIZL SO 100,000 100,000
01 Al&HI 100,000 100,000
OotdEHIAMY DI=ENEY 100,000
Xot& A - CSH(HEAIY) 500,000 500,000 0
= 360,000
Ea 150,000
401 AIEHIX 20HH 500,000 500,000 0
=S 360,000
s 150,000
01 AlZ28| 496,400 496,400 0
OESH (=S X7 )5H THOH Ol 2 AL (& 2F)
500,000,000 *99.28% 496,400
= 350,000
o 146,400
03 Al 2CHYI 3,600 3,600 0
OCSH(=SKIT)SHETHH O AN (M &)
500,000,000&*0.72% 3,600
NYStEEH| - H2SH (M EAIY) 500,000 1,000,000 500,000
== 350,000
o 150,000
401 A2 HIRL R 0HbI 500,000 1,000,000 A500,000
[ 350,000
T 150,000
01 Al&H| 496,400 993,700 A497,300
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S ol & AHEH Ol

s MAIRC ot& 3| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHzsd(M2sX+) L5t FHIAR(
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